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Question Number : 1 Question Id : 7164472251 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If f ¢+ [0,1] — [0,1] is a continuous function, then which option is correct with regard to the below equation:

2x— L ft)de =1

1 [0,1] = [0,1] oDy B0000 000D, & So& DRECEFIS DoeoBod D Jobs WB&: 2x — [ f(H)dt = 1

Options:
The equation has no root in the interval [0.1].

1. % #DoE6e0, eoesco [0,1] &° suren DAG.



The equation has only one root in the interval [0.1].

Y o AWE0e0, otddo [0,1] & 2.8 aureo argn 80 cob.

The equation has more than two roots in the interval [0.1].

7 « P800 evoeddo [0,1] e5° Socy Hoéd D5, QureroRL 5B Eod.

The equation has a two roots in the interval [0,1].

4. % PWDECE0 oesco [0,1] &° Tocd aurerosn $BA &od.

Question Number : 2 Question Id : 7164472252 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The real function g is continuous on [0,1]. Define the sequence (f,) n = 1,2, ... of the functions on [0,1] by

f () = glx}sin )7
il - il

s The sequence (f,) is:

TP BRoawo g, [0,1] &° e9DDN3) o &otw0d. f,(x) = H'ferfA

2 [0,1] 65°D Havoire ezndano
(fOn = 1,2, ... eszncd esngavo (f,) :

Options:
(fx) in not bounded on [0,1]

1 = [0.1] &5° (f;,) DHBeIO SED

not pointwise convergent on [0,1]

9 x L0118 Docd) DG 5358065(0DIB) 76

uniformly convergent on [0,1]

3 v [0,1] & D563 82005 (e9DT0)

not uniformly convergent on [0,1]

4. x L0118 2588 8:3q00d5(e5DI0) 57>



Question Number : 3 Question Id : 7164472253 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Suppose that (a,)5- 1 is a decreasing sequence of real numbers and that 77— ; @,, converges. The series
(= 2] 3o
n=1 n(an R an+1] 15:

GO PO, (An)n=1 OO TYD VoL 03V 2958 57°e8 9RVGa0 SDOOID Hne 1 Ay DO,
205 (8x00) Xn= 1 (A, — Qpyq) -

Options:
divergent

1 = Q&}goﬁ(@@ﬂ“ﬁ}

convergent

I émﬁgeﬁiwﬂﬁﬁﬂ )

oscillates

3. % éafdercodoed

none of the given options

A % ’K‘t‘:}!}é Jodgen DO T

Question Number : 4 Question Id : 7164472254 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If f:[—1,1]=*R is defined as f(x) = sin G) forx # 0 and f(0) =0, then:
x %0 0aw £(0) =0 oo f : [FLI] PR & £(x) =sin (2) m dox0, expew:

Options:
f iscontinuous atx =0

1 % X~ 0 o f 9D OTT” 08008



f has discontinuity of second kind at x=10

9 g X~ 08¢ f 8 Tocad 65200 DNOY & E0eod

f has discontinuity of first kind at x =0

g g X° 08¢ f D0esed 65200 D) & SBA &ot0b

f has removable discontinuity at x =0

4 s X° 0 og [ &% DTG5 DIy & €000

Question Number : 5 Question Id : 7164472255 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider all lines which meet the graph of y = 2x* + 7x® + 3x — 5 in four distinct points, say

(x1, 1), (x5,95), (x3,v3), (x4,¥,) . Then the value of (x; + x, + x5 +x,)/4 is:
D DDIY Docaneess y=2x*+7x3+3x—5 OB0g) BarDderdy SOD e SO

(x5, %), (x2,95), (x3,¥3), (X4, ¥2) 29D HO0Sool. eoaney (x; +x, +x3 +x,) /4 a30E), Dened:

Options:

1. % 0
2. v —1/8
3. = -7/5
4, = —7/4

Question Number : 6 Question Id : 7164472256 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If n is an integer, then which of the following is INCORRECT?

N 32rgroSo e90nd, S0b T°t3e5° DO DOTIH?

Options:



24 divides n(n*—1)(3n+ 2)

1. = n(n*—1)(3n+ 2) 20 24 D006

8 divides n(n? — 1)(3n+ 2)

7 % n(n*—1DEn+2)z0 8 Depd

3 divides n(n® — 1)(3n+ 2)

3« n(@*—DBn+2)0 3 Deind

none of the options

A v @t‘:}!}:ﬁ DoDSTID 5o

Question Number : 7 Question Id : 7164472257 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The square of each odd integer is of the form:

- 8, . = .

D3 8% WrgroSo GI0E); ago(@bﬁﬁ} G0:

Options:
1. «+ 8n+1

? % 8n+3
3 % 8n+5

Al % 8n+2

Question Number : 8 Question |d : 7164472258 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For any integer n:

BT 2rgroso n Edo:



Options:
17 divides n®(n® — 1)

1 = n°(@®—1) & 17 Hssegood

17 divides n®(n® + 1)

7 % n®(n® + 1) 2 17 Daseainod

17 divides n®(n® — 1)(n®* + 1)

3 o 7@ —1)(0°+1) 2017 Desainod

17 divides (n® + 1)(n® — 1)

4 = @+ D(0°—1) 217 dase22000

Question Number : 9 Question Id : 7164472259 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If 2n + 1 is a prime, then (n))? + (—1)" is:

2n + 1 2,8 Hord Doy od, wip (n)? + (=1)7:

Options:
divisible by 2n

1. % 210 56 DEieocieacdeod

divisible by 2n + 1

7 ¢ 2n+ 1 D& DERociencHaod

not divisible by 2n + 1

2w 2n+ 1 5o Dafelocseticd



none of the given options

4 " 'ﬁt.of}!brﬁ Joaseian S

Question Number : 10 Question Id : 7164472260 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of positive divisors of 600 are:

600 {:Cmé% c;’m“e‘_ﬁéé ZTaTee) ‘Eijoa_‘:é:

Options:
1. = 60

7 %= 15

Question Number : 11 Question Id : 7164472261 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of ways to seat n married couples around a table if men and woman are alternate is:

HDPED SB0ID Hew wEBD DAD LT &y 2.8 Gendd 308 N DaTrarred 2oien E‘.Jnci_)tb?ﬁ} AR ?iao;_o_sj:
Options:

1. = n!Xxn!

2 % nIX(n+1)!
3 % 2n

4 » nX(Mn-1)!

Question Number : 12 Question Id : 7164472262 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
How many zeros are there at the end of - 400!°?

‘4001 HbBeS® Dy QORF) a0 &7y 00?
Options:
1. % 100

7 % 102
3. % 120

4 99

Question Number : 13 Question Id : 7164472263 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

There are n students standing in a row as per their roll numbers 1, 2,---, n. The master asks all students to sit down.
Then he asks every second student to stand up. Next he asks every third student to change his position from standing to

sitting and vice-versa. Then he asks every fourth student to change his existing position and so on. Finally, he asks the

' student to change his existing position. Which students are found in the sitting position at the end of this drill?

o0 5 Doaxgen 1,2, -, n PS5G0 HEDT N Dergden Dowd &7) M. a07R6 DTFLEHOOCGHD S8 0D DI
RIENNED €9EI P)ed DOCiad DTRF0D DRI LIENDTPE). BHTE IR 20€3 SRESE) DTTEOD B g“ﬁ":)‘_l

NLICERI0 ol Sﬁﬁa@do S0doin HDS DEGOTP QPG CDTCD. YD VS DA TYD DD B
AL %}3@5‘3 DTPCEDR) RICDIDTTED. WDGTP, B B DS g"m“i};l BFGYE0D N & DTFFORD ENDHTEE. & &

DS Dol T2nDes” D Derggoen DI ?

Options:
Students whose roll numbers are even

1 = 565 Ddoead 2O ‘5&0;}5@“ &) Dorggoen

Students whose roll numbers are odd

7 565 Doead &R “n:ﬁoaj_gjeﬁ& &) Derggoen



Students whose roll numbers are prime

3« TS Soerh DD VO &Y DTy

Students whose roll numbers are a perfect square

4 v TS D02 HONBDOD DG Doy &) DLryen

Question Number : 14 Question Id : 7164472264 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When 4444**** is written in decimal notation, the sum of its digits is A. Let B be the sum of the digits of A. Then the
sum of the digits of B is:

4444 20 G703 DograTde ©° RN, T Bo3v doogo A. A g, 050 Dwgo B ©RIL0TT0. R
B oing); eose doudo:

Options:
1.« 7

Question Number : 15 Question Id : 7164472265 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Consider two positive integers a and b, such that a®b® is divisible by 2000. What is the least possible value of the
product ab ?

2000 3 a%b® DefRoneder,a sdain b 95 Boo GO S rTrosten. ab ero 0InE) SO anr;’:?g DEnD DDeH?

Options:
1. = 30

? « 20



Question Number : 16 Question Id : 7164472266 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The cyclic subgroup of (Z,4,+) generated by 18 has the order:

18 T (U7 &N SSODRIER (Zy4,+) a8, 80l & DATIro S BGIA(e5g6) 0 SOH Gotwod:
Options:
1. = 6

4 % 3

Question Number : 17 Question Id : 7164472267 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If H is a sub group of S, generated by (12) and (12)(34), then:

H esnd (12) soboin (12)(34) TP(O° GO SODEIED 5 O300E) €520 RITET0 90083, eIRNNCD:

Options:
H is a non-cyclic group of order 4

1 « H e936 esg6(a601ed) 4 o 5506 DaPro

H is a cyelic group of order 4

9 % H e956 e506(0561e3) 4 (fo 53S0 DaParo



H is an abelian group

3 % H ez eoddohe daoraro

H is an abelian non-cyclic group

4. » Hedd eoddohd 86380 Danraro

Question Number : 18 Question Id : 7164472268 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If H and K be subgroups of a group G of order 3 and 5, respectively, then o(H N K):

H s0boin K e esgb(eoriad) 3 andain 5 mr (e Daursre G O300E); €3 DI €08), P o(H N K):

Options:
1. = 0

2. 1

Question Number : 19 Question Id : 7164472269 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is correct?

oHarie) DO D0HH?
Options:
A cyclic group has at least two generators.

1 = 28 S0 Do) (285 (rH) 8270 Tocd @M (258 Durogamen) &otow.

There is no cyclic group of order n for some positive integer n.

I % E3) GroLS rgroso n §200 e506(e90r13) N (1) HI0OD DATEF0 EOCECD.



The cyclic group of an odd prime order has only one generator.

3 x £ TR B0 (es66) (o G010 WEDITEDS 2.8 TGOS (28 Qo) Gotnod.

4, v

A cyclic group with only one generator can have at the most two elements.

2,8 #0006 (258 urese)d &) D5al DaFRe (B0 Totd AuresTo) SDA &otwod.

Question Number : 20 Question Id : 7164472270 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is correct?

Sodaredes” D& DTHO?
Options:
There is no cyclic group of order 6.

1 = e5G6(e36013) 6 i IS0 VD0 GO

Every group of order 6 is abelian.

% u e366(861183) 6 (T P DAPFo BDADA.

If a finite group has elements of order 2 and 3, then it is cyclic.

3 % 2,8 DODS VNPT 906 (B6IR) 2 Dbt 3 (U APUSTRD o, G SS0RMA.

There are only two non-isomorphic groups of order 6.

4 v e306(8900183) 6 (& Cot mé—mﬁﬁmﬁgé(m%wbm} RPN ATFal) 60800,

Question Number : 21 Question Id : 7164472271 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of simple groups of order less than 60 is:

60 5083 353 €5g6(50073) rie ﬂvmaé &R Do

Options:



1. = 16

? v 17

3 = 18

A = 19

Question Number : 22 Question Id : 7164472272 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If a group contains elements a and b such that o(a) = 4. o(b) = 2 and a’b = ba. then:

2.8 DanIrareds” a sudosn b duresten o(a) = 4, o(b) = 2 swboiw a’b = ba ™ &oé » RIEDONCD:

Options:
1. v ab=ba’
7 % ab=a’b

3 x ofab)=3

A % ofab)=4

Question Number : 23 Question Id : 7164472273 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How many group homomorphisms are possible from the group (Zg +) to the group (Z4, +)?

RArETo (Zg, +) Ao Do (Zig, +) DO Y DOPEP mmdﬁa@w(ﬁmm%a&b} ﬂvmém@@nw?

Options:
1. = 9

? % 16



3. % 9x16

4 v 1

Question Number : 24 Question Id : 7164472274 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If G is a group of order 48, then the intersection of any two distinct Sylow 2-subgroups of G has the order:

G e938 esgh (3001) 48 10 DaFEro o0, G dINE), I Tocd DDy D&° (Sylow) 2-e Davrdte)

e90E%:3D0CED S e306(0013) EBH eot0b:

Options:

1. = 2

3. v 8

4 = 16

Question Number : 25 Question Id : 7164472275 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If G is a group of the order 65, then:

G e90b ?_ﬁgﬁr[e:@tiﬁ@} 65 e DauoTEIRo e900Ed, P_ﬂ@;}m:

Options:
G must be cyclic

1 v G @y Do SS0500T &otd

G may not be cyclic

7 % G 3Sohorr aomsﬁﬁam&



G has more than one Sylow 5-subgroups

7 % G 3 2,56 S0 L) S P 5-6D DATFDRD ET7) 0D

G has more than one Sylow 13-subgroups

4 = G 8 2,56) S06) I D P 13-6:0 DAL &) oW

Question Number : 26 Question Id : 7164472276 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If Z is a ring of integers, then the number of ring homeomorphisms from 7 to Z are:

Z 938 o5 Hoio e00d, Z ol Z H65 Bod ﬁmcﬁrm%a@g(mmwm@m) Roay:

Options:

I

1.+ 2

infinitely many

A % e9Rdod200TE eS80

Question Number : 27 Question Id : 7164472277 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of prime ideal and maximal ideal of Z, are:

Z1 CB0E), P DE0NS(DETD 3630y0) D0BOIL S0 DE0ES (OSSN BBGY0) © Doa:

Options:
1. = 4



4 % 3

Question Number : 28 Question Id : 7164472278 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The characteristic of the ring (Z,x Z,,.+,.) is:

DRVCN0 (Z;x Z;5,+..) OI0E), er&edSo:
Options:
1. = 6

Question Number : 29 Question Id : 7164472279 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of zeros of —10 + x + 7x* + 17x* 4+ 6x* in the Q ring of rational numbers are:

Y={0 3 (00 Rofe Q Poodo e —10+x+ 7x? + 17x° + 6x* a00E), RO © R0ay:
Options:
1. = 0

2. % 1

I

3.v



Question Number : 30 Question Id : 7164472280 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

R[x]/(x*+1) is a:

R[x]/(x* + 1) eoddd:
Options:
field isomorphic to field of complex numbers

1 v 08¢ Do ZPDS EGo BOVJETDOTT E000d

field isomorphic to field of real numbers

! - E E -,
2 % TP VoL ETPAS G0 SORJEINI0NT €000

field not isomorphic to field of complex numbers

3 % 2030 Doaxe ETrDS G0 BOVJETDONT GoC)

field not isomorphic to field of real numbers

4 = D°R6) VoV[L EFEAS o SOBJAI0NT GO

Question Number : 31 Question Id : 7164472281 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the polynomial x* + n x + 2 is irreducible over Z, then:

X 4+nx+2 eond Z Hoo e92.£3a30 (ATEIG0e0E5) €900, eLNCD:
Options:
1. & n=1

? % n=-3



n

3 % n=-

n does not belong to {1. - 3. -5}

A« n{l, -3, -5} % D0dI 520

Question Number : 32 Question Id : 7164472282 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

IfR is a ring with an identity element such that every x in R satisfies the equation x* + 2x* +x = 0, then:

R 2538 B0y dureded ey Hwoho @ond, R &°0 pa x 0dd

2 +2x2+x=0 RDECEFY ROTHDDMRV0D, LINYE:

Options:
2x=0forallxinR

1 v Heﬁ‘ﬁwﬁgxa&?x=0

R is a non-commutative ring

? % R 22005000 oHeoio

such a ring does not exist

4. = est0008) Heolo G

Question Number : 33 Question Id : 7164472283 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The degree of a field extension Q (v/2 + v/3) over Q. where Q is a field of rational numbers is:

Q 958 e5060D Do EGo oD, Q P £8 HYoe Q (V2++/3) ong), &H(e6nD):

Options:

1. = 2



Question Number : 34 Question Id : 7164472284 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Let V be a finite-dimensional vector space over C set of complex numbers. If A : V — V is a linear transformation such

that A#1, A2 el [ Al = I, where I is an identity matrix of the same order as A, then find eigenvalues of A.

“085 R0y (svoﬁgéb Soead) C A p V DODB-AOD 20O BB F . A: V — Vedd A # |, AZ #|,
A3 = | Dot 2me DODGD eond (rasbcz I, A a0, 90 D001 (esgb) a3g), (80D aTPas ), IR A a0s),
55 Dendedn S Hod.

Options:
-1,0,1

1 % -10,1

Complex cube roots of unity

I Qe a308), So5y Srge5 are5(R0Sh) Dudureren)

Question Number : 35 Question Id : 7164472285 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If T : R> = R? IS 3 linear transformation defined as T(x,y) = (2x+ y,x — y), then which of the following is NOT true?

T: R® = R? 09558 2.8 aaver D0OGH awdoiw 09d T(x,y) = Cx+y,x—y) ™ DOG0IE0D. 3N Sod TS’
D PbTren?

Options:
T is injective

1 « T@0235

T is surjective

? % T“:}Q%ﬁ

T is bijective

7 4 18835

T is not bijective

1 o 783305 =®

Question Number : 36 Question Id : 7164472286 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If A, B are square matrices of the same order and x is an eigenvector of AB corresponding to a non-zero eigenvalue A ,
then:

A, B 2,3 Sa0o 0ns); SEI06R PS50 a080ID X 90 FITRJB0 SEn DRV A £ essoresaoa AB a0E); SED
0% es0008, I

Options:
X is an eigenvector of BA corresponding to eigen value A

1 = X e9:06) S Lensd A ) easoroeeor BA 033355 B0 DO

2. %

AX is an eigenvector of BA corresponding to eigenvalue A, provided Ax is not equal to zero

AX 8936 T 8 TR0 TPRRDE AX €E0 Do A £ esdorboaaznd BA A0S, SE0 VO3



3.v

Bx is an eigenvector of BA corresponding to eigenvalue A, provided Bx is not equal to zero

Bx e9:206 207 8 D& SRR BX 900 &80 Dend A £ oo BA (0008, €@ O3

A is not an eigenvalue of AB

4 % A, AB rfmSaT ST DEDD SO

Question Number : 37 Question Id : 7164472287 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Every monotonically increasing sequence which is bounded above converge to its

Fal ‘&)Eﬁe.}%&mrw &) DB ArDEPDS (DE620) 58 a3PEs e9:Ea00 7 4 9B (s;asg e9aE0H ) ?

Options:
Least upper bound

1. v Sher| DD 283

Great lower bound

7 % (102 Grided 26D

Upper bound

3. % Jhad DD

Lower bound

4 = &HD HDBDA

Question Number : 38 Question Id : 7164472288 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘Bolzano - Weierstrass theorem’ states that:
‘tSTersS - DHEIFD oo’ e ﬁ]ﬁ“howoé:
& a @

Options:



every bounded sequence has a lower bound

aoed E}Eﬁe.}{m:_‘t e9c05a00 Oiad Ebﬁmrgm 580 eotod

2. %

every bounded sequence has infimum and supremum

DD DOLIG RS0 DYV (ﬁa@ [alghTe! ;:uga) a000IL DG (s::}%q DD f.:fﬂ%h) £9h cotod

every bounded sequence has at least one limit point

q , 09 DoLG eEx0 £520 208 HBDLA Docd) £ON &otn0d

every bounded sequence has a monotonic sequence

09 DBIG G0 AT DS (JEHY) S0 £BH &ot10d

Question Number : 39 Question Id : 7164472289 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

2 2
Lim[3+ Ll P ++i]=”

n—owln  m+1)®F  (r+2)3 8n

2z 2z
lim [3+ i PR ++i]

n—wmln  @+13@  (@©+2P 8n

Options:

1. ¢

oo | L

Question Number : 40 Question Id : 7164472290 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Maclaurin’s expansion of log(1 + sinx) = ?

log(1 + sinx) a0 AgrB0 DYoL =

Options:
A
B s ' e R
1. = 2 6
e
e =i e

Question Number : 41 Question Id : 7164472291 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the function f is defined by flx)=x% on [D,I] and P ={0-

b | F}

poowo £ @0 [01] dos f(x)=x" & dogDosecd mdomo P:{ﬂ&.i %1} e208, @i U(P, )=
Options:

e
1 % 32

15
2.v R

32
3 % 7

32



Question Number : 42 Question Id : 7164472292 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

: 1 ; ;
The series > ——— is convergent, if:

(an+b

250800 Zm &a ﬁocﬁﬁao@& éa‘)nsgoeﬁ{wef}ﬂﬂﬂ} e9aNE000:

Options:

1.v7>1
7 % p<l1
3 = p=1

4 = p=20

Question Number : 43 Question Id : 7164472293 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

lim (n—rf)lfn =7

fL— oo (Y

lim (—)lf -

N — oo T:

Options:

1. % o

Question Number : 44 Question Id : 7164472294 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If f:[a.b] >R is a bounded function and P, P' [a,b], such that P = P* (i.e., P'is the refinement of 2), then:

f:a.b] 5 R 28 08633 Hoomo anvdosn P o P! (e0d0e, Pleodd P odng), 8pS@d00es) esalyer P, P e[a,b,
€900083, eI NE:

Options:

1 = u(p, f)<u(p', 1)
g o U000
3w VSV 1)

4 o VST 1)

Question Number : 45 Question Id : 7164472295 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A subset A of a space X issaidtobedense X, if A= ?

A = ? eso0dd esocsiorwo X OT0E), EDIDN A D THY X 9D eotrd.

Options:
1. = A

? % AnKX
J.v X

4 = XUA

Question Number : 46 Question Id : 7164472296 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A space is called separable space if it has:

208 22085070 HDD EDAN0E DHBCDERN (RD0EET) 90T FoIT DEVLIEITHO0E:
Options:



Open subcover

7w o el 806

Open cover

3w D) 856

Countable dense subset

4 v S0 Ty e S (&00D0e)

Question Number : 47 Question Id : 7164472297 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a topology? (If X ={a.b.c})

308 65 DB S'Fred 5o 0? (awsdw X ={a.b.c})

Options:

1 « T=X.1a}}
9« T=igX.lalibcl]

3w T ={p.X.{a}.{a.b}.{a.c}}

4 T-b.x(abllad)

Question Number : 48 Question Id : 7164472298 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



A metric space is compact if:

2,8 D0H5 0BT"Yo PRTFOLENE) T0alS DRIk

Options:
it is compact

1 = €90 TPorS 90NN

it is totally bounded

7 % eadd QPO ﬂﬁ&}%‘vﬂ e2000 (5D

it is complete and totally bounded

3 v eatd n]n‘.}u.,}j“g{} Pelalonhaire) o e m}ﬁﬂ]gﬂ e900D et

it has a lebesgue number

eatd E?J'E_"\_I;rl:lﬂ’:'?s E’aoajé 200N

4 =

Question Number : 49 Question Id : 7164472299 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The metric space X is said to be totally bounded, if it has a/an:

ESVALRS NS (esoesorefo) X b SOA ol eadd PO 0G0 €9 DEVDEICIB0O:

Options:
open cover

1. & £ 806

sub-basic open cover

7w 2e5-8508 LDd g0b

sub cover

3w Ded 56



€ —net_ foreache = 0

4. v nRe>0 de— S

Question Number : 50 Question Id : 7164472300 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Every finite point set in a Hausdorff space X is:

TPRE Gy 0sTvo X 6°0 D D8 DO Do DD (D5 ro0ed 2065):

Options:
open

1 . - 1Py g

open cover

2. #  fsaom 856

closed

3. v 586

sub cover

4. = P85 806

Question Number : 51 Question Id : 7164472301 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A compact space is a topological space in which every open cover has a:

oS DyD DB 'Terass yd, HIS° A LD L26:

Options:
sub cover

1. % 265 806



open base

7 % L5 ED

finite sub cover

3 o DD D6 €6

countable sub class

A % Sobie0ed wey §“§j

Question Number : 52 Question Id : 7164472302 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The intersection € = n A, 1s called the cantor set; if it is the subspace of:

neEz;

(where A,, be the class of closed sets)

€90E5 DD C = ﬂ 4, B EDHHAIN HS0NINCD S0eFE DA €92 DeNDEICHIIE.

neEz;

(Rg),c Ay D6 DosHs DIBOL BEAD e9:05 o)

Options:

1. % (0,)
2« (—,0)
3. [01]

4, » [1,)

Question Number : 53 Question Id : 7164472303 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If X, ¥ are two topological spaces, the mapping f:X — ¥ is called a homeomorphism, if ' f 'is a:

X, YD Boco 5 erenses esocsorymen eoond, ' [ e SR DD aFg0od [ X > T
0 ﬁmmmaﬁao{mmﬁﬁm} £93) e908IPCD:

Options:
continuous bijective map

DN BBAD 207D
1'% r:);]_, £ ?5

bijective only

9 i DBEEO srEd

continuous bijective map, which is also closed

g x OV BBZD Orfd, 2 Sy E5&

continuous bijective map, which is also an open

4 v DN BEGD A0, WD S LD

Question Number : 54 Question Id : 7164472304 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the LCD and GCD of two numbers a.40 is 560 and 8 respectively, thena="7?
a.40 & Bocd Doaxje c3ws), LCD awdoin GCD s 560 and 8 eowd, a =7

Options:
1. = 240

3 v 112

A % 134



Question Number : 55 Question Id : 7164472305 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Ifa,beZ b+ 0anda=>bqg+1r;0<r <|b|,then(a,b) =72

a,beEZb+0 p8oimwa=bg+r;0<r <|b| @003, essneo (a,b) = ?
Options:

1. % @)

2?2 % (a,q)

3. v B

4, « (bq)

Question Number : 56 Question Id : 7164472306 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For any integer k # 0,gcd(ka, kb) = ?

2 irgroso k # 0 & eonne ged(ka, kb) = ?

Options:

1. » kegcd(a,b)

? |klgcd(a, b)

3 x gcd(a,b)

A w k?ged(a,b)

Question Number : 57 Question Id : 7164472307 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If 172x + 20y = 1000, where x and ¥ are integers, then:

X g080in ¥ Yrgrosten eodyer 172x + 20y = 1000 L9005, eINED:

Options:



1 = x=—5008&y =4250
9 x Xx=4250&y =500
3 4 x=—42508&y =500

4 o x=5008&y=—4250

Question Number : 58 Question Id : 7164472308 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For any positive integer m and n, where d = ged(in,n),0(m)B(n) = ?
d = ged(m,n), O(m)D(n) 200D, ) GTPGLE Jrgrofo M S0BAIL N 3 90>

Options:

1' ® {B(mn]@(d]

7 m(_mn).@

o)
d

3 v O(mn).

4.« @(m/n)d(d)

Question Number : 59 Question Id : 7164472309 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If @ is a Euler's function, then @ (@(@(243])) ]

2oy O D6 ciared O308), DOT0 £9000MY, 895 0 (Eﬁ(iﬂ[Z-ﬂIS])) = 7

Options:
1. = 36



Question Number : 60 Question Id : 7164472310 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Forn =1, then ®(n) denotes:

n=1, 86, 0(n) A3 Drd:

Options:
The number of positive integers not exceed n

1. = n D e G sPTOS") 208

The number of positive integers not exceed n that are relatively prime to n

9 o N® TFDEOTP PIFDOTF €08, N D TFOD G YITG0S L) 03

The number of positive integers not exceed n that are not relatively prime to n

g o M FRLOTT PEPHOTP G, N D TPOD G YPToS°L 03]

The number of positive integers exceed n

4 x n 2 orEe G 2PJPOSTR) R0aD]

Question Number : 61 Question Id : 7164472311 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If ca =cblmodn) , then a= E:'[nmcl% ] ., Where & = ?

— - A =l n/ | =
ca =cblmodn| E_*}D._‘.-JFGLSG, 29N a= blmodéj . Faﬁbr::, d= 1

Options:



1 = ged(a.b)
7 % ecdia.c|

7 « scd(a.n)

A v ocdic.n)

Question Number : 62 Question Id : 7164472312 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

r(180) =7, where 't’ denotes the number of positive divisors:
'T' 936 G 8 wPRSOR AP, r(180) =7

Options:
1.~ 18

4 = 12

Question Number : 63 Question Id : 7164472313 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The system of linear congruences ax + by =r(mod 1) .cx + dv = s(mod ) has a unique solution modulo 1,
whenever

DD FrorTo Df0R av + by =r(mod n).cx +dy = s(mod n) er &) A PBES FED af).:r“-:.i}ée_ﬁé n
Edanotwod.

Options:

1 = gcdlad.n)=1



I % ged (be.n)=1
3 gcd (fm’ -I—EJC,H)zl

4 gcd (ad — bc.n)=1

Question Number : 64 Question Id : 7164472314 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The set of all self-conjugate elements of a group G is called:

QAP0 G OI0E), 9D ?..:.5@—:300:1;3% STOTEE) MDD [eT e90eT:

Options:
order of a group

1 = D000 0308), B603e3(e566)

normaliser of a group

9y PRI (08, FErotson (o ged)

centre of a group

3 o QaTEro 0Ig), So@so (7a0e3d)

index of a group

4 % Q00Tre 030E), S (Q0ESY)

Question Number : 65 Question Id : 7164472315 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

S, be a symmetric group of n symbols and let A,, be the group of even permutations, then 0(4,) = ?
S, 2O N Do a308), :5"‘{.&&3 RauEro 00T 4, e Db HAFTTY Do e, ekne 0(4,) =7

Options:



Question Number : 66 Question Id : 7164472316 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Lagrange’s theorem states that:

Srod ?c:tg‘*o@a ger” DadB0ob:

Options:

1. =

The order of a subgroup of a group divides the order of the group

QBOOPEIP0 TIVE), ED DOWTP0 GI0S), oI (e5g6) Daarro a0, BO(TE (e506) D DEfearwod

2.

The order of a subgroup of a finite group divides the order of the group

DO DaAPETO RV, €D VAT G, S60A (565) DarEro TIn), GG (5g6) D DRI

3. %

The order of a subgroup of a group does not divides the order of the group

RVBOPETP OIVE), & VAT 030, GO (e5g6) “a0omaro a30E), DO (e596) D DEfoe

4. =

The order of a subgroup of a finite group does not divides the order of the group

DO DAITET0 CIVL), G VBP0 RN, BOHA (566) DT CT0E), BOMHA (586) D DHEIROBE



Question Number : 67 Question Id : 7164472317 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Any infinite cyclic group is isomorphic to . Where Z & R be the set of integers &real numbers.

Z &0b050 A QIgrosten SuBosn SP R0ae DS 9305063, DB 90D LSS0 DAITEF0 8

mﬁﬁm%é (0560) DHBA.

Options:
1.v G

2« (Z)
9. %« R+

1.+« ®R)

Question Number : 68 Question Id : 7164472318 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

(Z.+).G = {l.—1.i.—i} are groups.( Z be the set of integers) f:Z — G defined by fln)=i" VneZ ,

is an onto homomorphism. then kermel ' =

(Z.4).G = {l.-Li.~7} 3D Daordren. (Z 0dd rgrosto 2d) flu)=i" e Z 3 dogdodexd f:Z >G,
2908 208 €55 ew(onto) ﬁmm@h&o (206r08) ond, e 536)&S f =

Options:

1. « 2n/ine z}
7 % {B3uinez}
3 v fan/ne z}

4. = {nine z}

Question Number : 69 Question Id : 7164472319 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



. : . G :
By the fundamental theorem of homomorphism , G is homomorphic to G* and —=G", where x is a:
X

G
ﬁmmﬁhe&o (Daudrdey) O3IE), 0T i‘ggo@o DTS00, X 900 QU ENINE G wad G Soboio =y &
* 35 X

ﬁmmahé (Fa00rno) e9aneood:

Options:
sub group

1. % ®8 gro (&0 dawraro)

normal subgroup

I SEOTIRSANs S (Jrerdes & PaursTo)

centre of a group

3 x R0 ds). SodSo

normaliser of a group

4 = RDNTE0 A0E). 770 Tad

Question Number : 70 Question Id : 7164472320 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Let S, be the permutation group on 4-symbols, then the order of S, is:

Sy 908 4-rode a0y, :;mééejaé D (Hardo DAPET0) 90063, 9N S, G30E); SO (e506):

Options:
1. « 24

7 % 4



Question Number : 71 Question Id : 7164472321 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Let (H.») be asubgroup of a group (Ge) for a=G ( where '* is multiplication). Let the equivalence class a =

{.\'E G/y=almodH ]} then @ =72
asG 05 (He) 930 (Ge)] 90 DR GI0E) E00E00°70 esc0Fod (¢ 9D rDrataan). SSNDTD BGCID

a = {.\'EG x=almodH ]} ool N a = ?

Options:

1. = Ha
2. v aHd
3 % a‘H

4. « Ha"

Question Number : 72 Question Id : 7164472322 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

|G. X, ] (4 is multiplication modulo 5) is a cyclic group. Where G = {1.2.3.4 } then the generators of G are

(GX,). (X 0036 e Dreges® 5) 08 adoh vauriro (A8 G = {1.2.3.4}) eond,
G 0308 230 (258 Qnrerseen ):

Options:

1.« 02)
2. % U4

3.« &3



Question Number : 73 Question Id : 7164472323 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of idempotent elements in the integral domain are:
QP08 PBF0G°D 9DNOI0B JrUTY VoIy:

Options:
1. = 0

“
<
I

Question Number : 74 Question Id : 7164472324 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the characteristics of a ring is 2 and the elements @, b of the ring commute, then (a + b)* =7

S0I0 CI0E);, OrPLEISTeD 2 SuBoin Hvaio IS, AVPUS D a, b D200k esonH, £92)C (a+b)? =7

Options:

1 % ﬂ:_b:
2 o a +b’
3. Y 2ab

A = a+b’+2ab

Question Number : 75 Question Id : 7164472325 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If U isanIdeal of aring R and 1e U then

U escofy deodo R Dimsb e3¢3G0 208050 1= U esoonéd:

Options:



2. U=F
3'Q 3 o
4 = U ={0}

Question Number : 76 Question Id : 7164472326 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In the ring (Z;,.+.#). the number of zero divisors is:

(Z;5.+.2) Hdeoosoes, BIPR LIRS0 ROD:

Options:

1. % 5

2. % 6

3.% 8

4 v T

Question Number : 77 Question Id : 7164472327 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

R is an Integral domain, is said to be Euclidean domain, if forevery a,bc R, a=0.b =0 .

there is defined a non-negative integer (a]
B abeR,a#0,b#0 3 DOLDIOSEIC.D 2MBEC PG oS0 d(a) &o® Desorr €550 XD DAL PBFo
R 956 o800 DT e9:ecEn0d.

Options:

1. % d(a) > d(ah)



7 % d(a) = d(ab)
7 = d(a) < d(ab)

4 o d(@) <d(ab)

Question Number : 78 Question Id : 7164472328 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

An ideal U of a commutative ring R with unity is maximal if the quotient ring o s

DYDY Ddoato g rger &ofl D& (0rDed )i Hotredod dwaio R B0E), &G0y U 008800 :)dI0d:

Options:
ring

1. & oot

division ring

2' % 2P0 D00

integral domain

3 % Qrgros piFo

field

4&?@0

Question Number : 79 Question Id : 7164472329 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Anideal U= R of a commutative ring R , is a prime ideal if and only if g is:

% B0 QY 6 AN SIFGRY DAXV0D) V00 R OIS GG U=R &0 DOF G060 apBood):

Options:



a field

1 Y 2.8 E@;D

an integral domain

7 o 28 Qrgros FTal:ls)

a division ring

3' w208 23ef oeoio

a commutative ring

A = 28 HDH00H Heoio

Question Number : 80 Question Id : 7164472330 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The associates of (3—i} in the ring of a Gaussian integer is:

TPRI00R RYFgrofo G3nE). HOOI0 65" (3-1) OT00E), RTPIIED:

Options:
1 « TB-7)
2 % zi(3-i)
3 . tR-DE18-)
4, % +(i-3).2i(i+3)

Question Number : 81 Question Id : 7164472331 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The zero's of f(x)=1+x*e Z.[x] in Z; is:

Z.. & fix)=1+2te Z. ] CG3008), BT e

Options:

1 « 1.2}
? % {G-l}
3 3 {1‘3}

4 21
4 & 2.3y

Question Number : 82 Question Id : 7164472332 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Every integral domain can be embedded in a:

DA WPTros PBIoR Dedes” ﬁ“ommmam&;

Options:
maximal ideal

1 " eaHSe%a00 @ﬁ&tﬁ;}o

principal ideal

2 % DD DEADS (ezray es66y0)

field

3&%0

skew field

Ry¢ 2e3(Zg30)

4,



Question Number : 83 Question Id : 7164472333 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The polynomial x° + ax® +bx +1€ Z [1] is reducible over Z , if and only if either:

DONSoT S0b 28 ;bor:ﬁdﬂor;‘iﬁ argey, *0+ax’+bx+1eZ [x] 29 BETONG Z 2 Sea (Besrgoenes)
£9a0)E8005:

Options:
1 g a=bora+b=-1

? x azbora+b=-1

3 v a=bora+b=-2

4 = azboras+b=-1

Question Number : 84 Question Id : 7164472334 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If Q, R & C be a set of all rational numbers, real numbers and complex numbers, then which of the following is NOT a

vector space?

Q, R awdoin C edy eaCe3atd R0PFED, TR DOFED aDBOID “‘n)oég RojR DDA 0B, 20d e DO

EFrodTEYo SECD P
Options:

1 » 28

Question Number : 85 Question Id : 7164472335 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If &, f be two orthogonal vectors in an inner product space V' (F) and || =||8] =1, then |a— 8| =2
Q. 3D eostory wostvo V(F) andasn lee| =[18] =1 &° Boc worr Déven oS, enc |a—F|=?

Options:

1. % 2

Question Number : 86 Question Id : 7164472336 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If & =(1.2). 8 =(-11) are two vectors in the inner product space R*(Risthesetof realnumbers)

with standard inner product. y is a vector such that (e.7)=—1and (B8.7)=3.then y =72
a=(12).8=[(-11) 5 Faras @D@G&)am:roﬁ (10 £90BC0E) 0BTWo R*(R e958 a7 Qoo 2AOA.)
¢5° Bocd DOFen. (a.¥)=—1and (B.7)=3. E_‘J'C.‘IiJTSEJ" Y 900 28 DOF. antD Yy =7

Options:

Lad | b2

3

1. v

|
[ )

Lad | -
Lad

I
i
]

Ln-.'l||

EJJ
b4
L

Lad | k2

Lad |

Question Number : 87 Question Id : 7164472337 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If Uis a vector space over a field F of dimension n, then dim[Hom(U.U)|=?

U 520 HOBATEs0 N 0w, G0 F &° 20T 000°wo 008, 5D dim[Hon{U.U)|="?

Options:

1. &= n

? % 2n

Question Number : 88 Question Id : 7164472338 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In R*. the vector & =(1.—2.5) can be written as a linear combination of @ =(L11).e; =(1.2.3).e; =(2.-11).
o =aa, +~ba,+co; then a.b.c are:

R.& 006% =125 2 a=(111).a =(12.3).05 =(2.-11). @=aaqa, +ba, +ca, a30E), 2w SVoNLE”

TrODDDN. N a.D.c :

Options:
1. J e~ 6-. 35 2

9w 6,-3,2

Question Number : 89 Question Id : 7164472339 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Let S be asubset of 77 and 7(F) is a vector space, then the linear span is denoted by ZL(s). If § is finite, then Z(5) is a/an:

S DO 7 0Ing), &GOS O0IN V(F| @8 DOTo8TYo 0508, DD D0DHSE (2ame) i‘w;}é I(s) &
PPLoIeICOER008. S 0908 DS (0D0e8) 0B, e9andd LS| eand wd:

Options:
finite set

1. & DB DA

empty set

7 % %‘aﬁ:ﬁé a0ed

infinite set

3. v 900008 DA

singleton set

. % 208560 DS

Question Number : 90 Question Id : 7164472340 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
In the vector space ¥,(R) with standard inner product, if ' is the angle between two non-zero vectors, then:

Py bt = Eﬂo@dﬂgoﬁ (1) D&FoeT Yo V(R) €°, '8 908 Boto BIRBC DOIO 06 Fea0 €900, e9a0E:

Options:

1. = lcos@|>1

2 % |cosB]=1

3 o leosfl =1

A % lcosf| =1

Question Number : 91 Question Id : 7164472341 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If 7" be a subspace of a vector space 7 over a field F, then dim! ;_' =7

W 008 Ego F P DEToSTTo I (B0S) ErodTrween 9008, 93N dim | ]]_}_ s

Options:
1. % dimV+dimi”

2 J. dimV —dimW
3 “ dim ¥ —dim I

4 = dim V

Question Number : 92 Question Id : 7164472342 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Let 7, and 7, be two subspaces of a vector space I'(F). then L(F#, uI, ) = ?

7} 0BO3W I ) RET BT Vo V(F). 0lns), EaroSTPwReD) €900083, esancy LT, Ui, ) = ?

Options:
1' % LI, J+ LI, )

9w LOF)-LOT:)
q o M+,

A % LV )

Question Number : 93 Question Id : 7164472343 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If o /3 are vectors in a complex inner product space, then («, )= ?

. 9 Faoég €9085008) £90EsTP0eS” DEFED 90008, eNED (o, f)="?

Options:



Rela, S)+iRela.iff)

9 % iRelict, f)+Relc.if)

3 « Rela, Al —iRela.iff)

—iRelia,B)+iRela,if)

Question Number : 94 Question Id : 7164472344 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

<

If A and B are subspace of a vector space I over a field F. then is isomorphic to:

A+ B

A S0Bo3w B 00D Edo F. P DOToBT Vo I 0I08), EaroETUPY0 €900, 93D

HDS @ﬁﬁmaﬁ (Boo5Ed0) BaHeod:

Options:
A
1 % AUB
AUB
2.% 4
A
3 v ANB
ANB
4 = 4

Question Number : 95 Question Id : 7164472345 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If §(21.3).01.2,3).(1L1)} is a basis of R’ and {¢ .« .«, | is an orthonormal basis, then e, = ?

(213).(1.23)(LL1)} D& B 0008 eorco 0B (o005 @0 86 (00e2dBon) Berdo, N o = 7

Options:



7 5 3 'i
| /378 /378 /378 |
1. v

(12 -15 3 'i
7 % | /378 /378 /378

( -12 -15 3 'i

| /378 ". 3782 378 }
3%

( 12 15 -3 'i

| /378 ".378  .f378 )
4, =

Question Number : 96 Question Id : 7164472346 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In an inner product space F(F) |a.B)|<|«||8| v« BeV is:

V(F) e esod008) e00t0woeS” |e. 5] <|e]|6] ¥ o BV

Options:
triangle inequality

1. & £ED2 VVITFIO

parallelogram law

% % Eatwhielale) rﬁﬂ)ﬂ)ﬁ&ﬁ ~J030a00

Bessel's inequality

3 % E?J;}t'f? cﬁnjéa} BRI T ES



Cauchy-Schwarz's inequality

A v goa-s%g 0TS, VATV

Question Number : 97 Question Id : 7164472347 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If A is a square matrix of order Y7, then adj (mzf,iﬂ) =7
A 938 1N S60A (3g5) s, SBO6H DA oIS, N adji(adid) =2

Options:

1'ﬁ? |A|"_2A

9« 74

3« |4|".4

r—3
=

4 s |A

Question Number : 98 Question Id : 7164472348 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If 7:U -V be a linear transformation and the set Null space of T, N(T)={ucU,T(x)=0} then:
{(Where K(T) isthe kermel of a L.T)

T.U—7T 90 anver D8DGH0 &0d0in T, NI )={uelU.Tll=0] 630g) VDD HITjodT vo EI0DDAND, ETRNEL:

Options:
1 % E(T ) N(T)

N{Tc Kl
2'% N(T)c K\T)

MT|l=K
3.@? N T|=KI\T|



4 g MIT)=F

Question Number : 99 Question Id : 7164472349 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The product of the Eigen roots of an n-Square matrix is equal to:

n- SEOH ATAE AI0E) SHED drere Vo G DaTDo:

Options:
trace of a matrix

1 = QPSS T, SO (ames)

sum of the Eigen roots

7 % SED QCTO DGO

determinant of the matrix

3 o 0PGBS o0E), DGaIEEE (C.8)Dok5)

Zero

4. % 0RY

Question Number : 100 Question Id ;: 7164472350 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Let T;R*(R)— R*(R) where for any (x,y)e R?.T(x.v)= 2_\;.% 1,\ The matrix associated with T with reference to the

a

standard basis is:

D {x,y)e R .T[x.y:]=[2_\;.% y\! & @onr T;RYR)— R(R) ed0totro. Jraordds esirGodd T ¢ e9i0e0080cIeted
27 ) j )

aTegds:

Options:

Lo T e

b | =

1. =



2. % -
[2 0]
.10‘
|75

J.x -5 -
[2 0]
03

4 - =

Question Number : 101 Question Id : 7164472351 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The quadratic form X74X in n variables is said to be negative definite, if:

n SooeHVeE D DG OrD0 XTAX ogipnes 2o D0 (DHOD EDIES) T DBDEDBO0E:

Options:
1. v r=ns=0

3 x r<ns=r

4 = ey

Question Number : 102 Question Id : 7164472352 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

N =
The greatest Eigen value of the matrix 4=|-2 6 2]is:
0 2 7
o s |
aoeeds A=|-12 2| ol (103 S8 DeVD:
B Z

Options:



Question Number : 103 Question Id : 7164472353 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If T -1(R)—>1;(R) is a linear transformation such that T(1.0.0)=(-10) T(01.0)=(11) andT(0.01)=(0-1), then T(x v.z) =7
T(1,0,0l=(-10) TI010)=(L1) andT(0,01)=(0~1) @0335&3'* T :Vi(R)=V(R) €906 axner 200500 90008, e9aned Tlx, v,z)= ?

Options:

1 v L
2 (x—v.v+2)

(~x+v.,v+2)

3. %

A x (x+v.—v+2)

Question Number : 104 Question Id : 7164472354 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

q

i

If ‘4:[1

2 =1

s

}. then A% = ?

2 =1

1 2
Azl } 290005, 9D A% =7

Options:



1Q25I

2 g 1257
3 J. 62571
4 % 5T

Question Number : 105 Question Id : 7164472355 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

n 2 37
I 4={2 =1 4|,then 4= ?
EE
i 3 &9
1i=(2 -1 4| @003, e 47= ?
ERE =1
Options:
4—10[.i:+_i+18I]
1. =
) % 42 +24-181]
®
Ll -a-181]
3y 40
4—1E][.-i:+;i—18I]
4 v

Question Number : 106 Question Id : 7164472356 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



| 1 2 & s 4 3 2 A A
If 4= L3 | then express 4" —4.4" +84 -124°+144 asapolynomial in 4.

e

1 j_l & 3 3 1
| 5 R0V, IO A — 44" +84°-1247+144° D A & TVDAT DjE50BoS0c.

Options:
1 = 44-51

9 o SI-44
3y A4+5I

4 x —SI-44

Question Number : 107 Question 1d : 7164472357 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

. (:'} is analytic at every point z on the complex plane, then f (:’} is said to be:
f (:} e9E "naoég B0 DA DoY) Z HY IVOS (D3ne) 90005, e9ened (:'} QO® DONEIDB0L:

Options:
entire function

1. v 2080 DO

analytic function

DF0E Davoio (950N5S HoED)

harmonic function

3 % AFOPESLS Da00m0



conjugate harmonic function

208G SPTELE Pa0oDo (S HS B DE DoLS)

4, 5

Question Number : 108 Question Id : 7164472358 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

n_n

X
The radius of convergence of the power series Z s

=l

D6 2BD (20 e0800) D17 dint) 83400y (9Dd6e) Jjgo:
n=l ~

Options:
1. = 0

Question Number : 109 Question Id : 7164472359 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The value of | C—+C— I|Re al f[:]|: = ? (Where o= flz})

\ox® &y ) .
| C + ': I|Ram‘ f[:'l|: = g, DenDd Jod? (@Sbf:i o= flz) )
Lex™ av” ) "
Options:
1 . 176




3. VC)

—'I‘f"f_: i

4,

Question Number : 110 Question Id : 7164472360 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The value 'Df | [‘ Y 17" —2xydy along the curve x = y is:

LIy
LT

P58 Y=1" Doad

" 1‘_

{1 R }ﬁ —2xvdy aB0E), Ded:

ot
o

Options:

[a—
I_nl-l-"h

1. =

[~
¥
| w

Question Number : 111 Question Id : 7164472361 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The bilinear transformation which maps the points =2.7.0 in the z — plane into —1.—2.1 in the @— plane:

@~ 800" Dodspen #,1.0 &z —dwod” 1.1 mr 3D Sasn Sgewer HBDGo:

Options:



(rr_):—_
2' " 1-=
1-22
o=
3 o 1+2=
1+2=
0 = -
4 " 1-2z

Question Number : 112 Question Id : 7164472362 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The polar form of Cauchy-Riemann equations are:

-0 HDECETY (0O Do

Options:
du —lov ov _12u

1 g Or }E & rof

Question Number : 113 Question 1d : 7164472363 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under the transformation @@=

||||—l

. the image of the circle is |7 — 2i|=3:

o=

1 ;
— DBDGH0 B06s, Do abog), HADoe | —2i|=3

Options:



straight line

1. & 0¥ 0

circle

2w To

unit circle

g OO OS5 (Dzm0s o)

Question Number : 114 Question 1d : 7164472364 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of zero's of the polynomial =° —2z° +z* —8-—2 inside the unit circle |_‘ | =3
OTDES 8,5 (J5e08 Hygo) Z|=1 &% exrond 2> —2-°+27-8--2 OIVE), BIPHR DOY;

Options:
1. = 9

4 % 6

Question Number : 115 Question Id : 7164472365 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The converse of Cauchy's integral theorem 1is:

o b
) 0308, WFTros DEFodo g0y DS*D0 (8¢6y):



Options:
Liouville's theorem

=]
1' o @cﬁrﬂg ﬂ%ﬁ“o@o

Rouche's theorem

o rodho
? % &

Morera's theorem

o
3. v PR cﬁ_ngb n:atg*oéjo

Hurwitz’s theorem

. =]
4 % mﬁ&%ﬁ nJEm}“D@D

Question Number : 116 Question Id : 7164472366 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If a single valued function f (:) is NOT defined at the point =, , but lim f(z) exists, then the point =, is called:

—ﬁzo

D& Densd Pavoio f (:) 02 =, Docsd) DG DoDocsercisror= lim f(z) D €::) o0,

E—Eg

2, Do) Qer enHetHeod:

Options:
singular point

1. % 28 Doy

regular point

I % Brioged oot (S0 Docosn)

essential singular point

3 « SRR 2 Do



removable singularity

4 v DaF oy DSBSD (Bsoesdened ?aoméwﬂef))

Question Number : 117 Question Id : 7164472367 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A curve with no multiple points is called a:

EIaTPOW Aocede S HEDDD eT es0bc:
Options:
smooth curve

1. = DHEODD HE0D

jordan curve

2 v BT S50

rectifiable curve

3 Slelalnleld (O&aomens) HEdD

non-rectifiable curve

4 % DBOSTD (°-B3w0enes) HEBD

Question Number : 118 Question Id : 7164472368 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The poles of f{z)=tanh: is:

flzl=tanh:z Eﬁl}éﬁf heren:

Options:
1 x z=17

2 “ =tpa



Question Number : 119 Question Id : 7164472369 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The point =, is a singular point of 7(z) , if and only if:

e &YX arga I Do fl2) amng) D8 Do (Rorbged aranoes):
Options:

£1=) isunbounded in every deleted nbd ()

1 o7 (2) e36 Fohowedsd £ nbd (%) & edbego

7(z) is unbounded in the nbd ()

7 % f(z) 36 nbd (5) & Eﬂﬂﬁﬂatﬁo

7(z) is bounded in every deleted nbd (=)

7 f2) 958 Feonoserds O nbd () &° 0G0

f12) is bounded in the nbd (z;)

4 % f12) 36 nbd (2) & DBexgo

Question Number : 120 Question Id : 7164472370 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks 0.66

Il
(-

Find the value of j —dz  where ¢ - i

]_,

k|

;!

|
_-
-

1
—1 €903, j—ﬁdzi DenHA) LT D0




Options:

1. = —2mi

2.% 0

3 v 2mi

Infinity

4 = esdodho

Question Number : 121 Question Id : 7164472371 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

N

. T de
Find the value of |— ;
73+ 2cosd

T de

| ———— Denodd &offdod.

13+2cosé
Options:

27

| ]
=

[
3
5

T

w
b
o

4% 5

Question Number : 122 Question Id : 7164472372 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



: : : ( ¥ e ) 1, 1)
Find the integrating factor of | ¥+ Ry b+ ]l X+ Jdy=0.

A

| 2 dg g
i+ kvt ldy =0 gy, arsed mRD) SFDE

Options:
X
1. % 3
1
? % 3
3
3. v
3
4 =

Question Number : 123 Question Id : 7164472373 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Find the roots of the differential equation (D*+8D" +16h =0.

50D DAECE0 (D +8D° +16/y =0 030, dureren ST Dol

Options:

0+2i.0+2i
1. v

9 x 1%20.1%2i

4 % 1+3i.1+3

Question Number : 124 Question 1d : 7164472374 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



av
The differential equation a i g ('-i ¥) is said to be a homogeneous differential equation, if f ('-s, v) is a:

v
¥ ('-s, V) 9D e 6) D VDSV DAEGE0 E — ('-i V) D 22H0D 080D DOEGE0 90T,

Options:
homogeneous function

1. % %e@dabh Hioano

homogeneous function of degree one

7 % GO (800) 2,860 (o Derdab HRvabo

homogeneous function of degree zero

3 o &8 (8068) ooy fo Leardoh Danoio

- .
homogeneous function of degree n

4w &8 (s002) ' e dardab pdoaio

Question Number : 125 Question Id : 7164472375 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

s d*y
The auxiliary roots of dr; +4x=0 are;:

4
dv

d_rl“‘+4'r: 0 D:m% RIP0DE SaTreTe:

Options:
1+i 1+%
1I- %



4 o —lE 1

Question Number : 126 Question Id : 7164472376 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Find the general solution of (4D? -4D+1)y=100.

[4D* —4D +1]y=100 030E) FTOR FEI SFTJol.

Options:

1. « (f._—r::.r}e%—l
3 {_r:._—rf:.\'}e_%—.lm

3 % (¢, +cx)e™ +100

4 « lg+ex)e™ +100

Question Number : 127 Question Id : 7164472377 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Find the particular integral of (D* —1).1‘ =g* cosY ,

(D* —1).1' =¢" cosy O308), DBE DATEVD:

Options:
e’ cosx

1. = 5

—e' cosxy



Question Number : 128 Question Id : 7164472378 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

v — xdy ;
The general solution of - ﬁ =0 Is:
X+ p

b
i G0, FTroes D
48 +1

Options:
o |-
1. % Y

I-"l
Tmfll— =
%o

4. =

Question Number : 129 Question Id : 7164472379 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The orthogonal trajectory of the cardiod r =all —cos8) is:

5°0es00E (Fropd@aw) = all—cos @) C3008), ©08) OB [Ejgﬁ‘?a’}t'i gagﬁ}:

Options:
i =£fl—cos§,‘l
1. 2
7 =£fl—cosﬁ}
5



Question Number : 130 Question Id : 7164472380 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

-

The solution of v“log v =xpv+ p~ is:

vilog v=apv+p’ DY), FE:

Options:

=
“

1.% P'=9
2 % p=cr
3. s P=ar

4.v P=o

Question Number : 131 Question Id : 7164472381 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The part of CF for the DE xy" —2(x+1)y +(x+2 )y =(x—2)™ is:

DE »'' —2(x+1)y' +(x+2)y=(x—2)" &0 CF arrio:

Options:
1. v ?=¢
2 g Y=X



4. % y=¢"

Question Number : 132 Question Id : 7164472382 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

o

If the particular integral of (D* -1y = is y,=4e"+Be™ then B= 7

1+¢&
2

o

(D" -1y = oo, HAE DArEOD0 ¥, =4e" +Be eond, wipe B= ?

14 ¢
Options:
1 = logll+¢")
9 v —log{1+e*|
3« Iogf_.l—e_“"}

4. % —legf_l—e'“'}

Question Number : 133 Question Id : 7164472383 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
day

The solution of (x+ v + ”T =1 is:
dx

(x+1+ | aB0E), TG

feiy
Options:
ve¥ =—¢¥(v+2)+c
1. v (2
e = (v+1)+c
2. « iy



s P 1 ONPR ) T
4 % ve' =e'|lv+2)+c

Question Number : 134 Question 1d : 7164472384 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The solution of the differential equation xdv+ 2vdx =2y xdy is:
980D G0 xdv+ 2vdy =21 xdy as08) T
Options:

1 " ."L':j':lf."fj':

=)

Xy =ce’
2. %
9 vy =rce
.
xp=ge"
4, =

Question Number : 135 Question Id : 7164472385 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

' , . ,dy iy :
Find the particular solution of x~ Y ax® 2y=€" .
- dx
L dy dy s %
¥ +4Ax -+ 2v=¢" o308, PBIS TG STl .
d dx

Options:

1. x x’e’

7 % x le™

-

3 x e



Question Number : 136 Question Id : 7164472386 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

: : . 2 dly e T
Find the particular solution of {1+ x° H—I +(1+x |ﬁ— +v=2sin[log(1+x)] .
X X

(14 %) L}mﬂ-%ﬂ: 2sin flog (1+ 3] G308, HBE DR EROFDE.
: -

X
Options:

1 v —logll+x ]cos[l:::g[l + X ]]

»

2 % log(1+ x Jcos[log(1 + x|

—log(1+x)sinlog(1+x]

3. %

log(1 +x)sinflog(1 +)

4 =

Question Number : 137 Question Id : 7164472387 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Find the partial differential equation of all spheres of radius 4 having their centres in the xy —plane.

xy —danswod” 578 Sogsrod SBAtT, arjdrgo 4 (0 @) Hvee JrAS eBSUD DILCEED) SHoffdod.

Options:

1'3;3 [;pz+g2+1}=16
I % 2p*+q*+1)=16

3 4 HpPegt+1)=16



(p* +4*)=16

4 =

Question Number : 138 Question Id ;: 7164472388 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66
One dimensional wave equation Is:
208 ZR0HDS D (IS DB SGorT) DIEGEO:

Options:
Fu 1 u
a2 k&
1.« ©
~ ~2
c 1 &u
7 % & et A
~2 ~
g“u 1 &u
i ot

1

Question Number : 139 Question Id : 7164472389 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
; where £ is an arbitrary function.

Correct Marks: 2 Wrong Marks: 0.66
A0l 2,8 FPEE DLV VAECEFD) IGO0l

From a partial differential equation from z=x"f | =
.

f '\.l
|

!

F

RS @%QS (03mc3yDN8) HD0OT0 VONINCED == A~ | %

Options:
Xp=nz+yp

1. =

9 o W=nE-ap

gy W=nz-y’p



4 x YP=nz-yp

Question Number : 140 Question Id : 7164472390 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

-
i

The solution of (DI = ﬂD r=0 js z= 7

(D} -a'D}F=0 ooty Fedz="2
Options:

1. = fly+ax)+xgly+ax)
2w flr+ax)sxgly-av)
3 = f[}'—a.‘s:]+.‘s:gl:}'—a's:]

4 v fly+ax)+ g[y—m:]

Question Number : 141 Question Id : 7164472391 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The general solution of xp+yvg =3z is:

P+ ¥q =32 0308 PO FG:

Options:

1. v FIZ%{zg
2 FI:%"‘%J=C'

Ir."{ S A
3. % Fl&ﬁs'—%}!_ﬂ



(x/ ¥/\_
oo A

= Py
[

Question Number : 142 Question Id : 7164472392 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The solution of 2xz— px” —2gxy+ pg=0 isz = ?
lr:—p.x': —2gxy+pg=0 @JS&T PO ZE="?

Options:

1 = ax+blx—a)
3 v av+ bl:,_.r: - n}
7« av+b(x—a)

4 = ax’ +blx—a)

Question Number : 143 Question 1d : 7164472393 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

2y

- = Oz,
s+z=0 if r=¢" and — =1 when x=0 .
X

Find the solution of partial differential equation —
X

o
-

;_} +2=0 oawg), FEIW S0Fd.

=0 00NN z=¢” oy Z—\ =1 eo00dS, FEE 0D DEGE0

Options:

1. # z=sinx—e" cosx
? % I=cosxte siny
3 v Z=six+¢e cosx

4' g - —COSX—¢ 51X



Question Number : 144 Question Id : 7164472394 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The solution of z, =6x—3y and Z, =—3x+4y isz=7?
Z,=6x -3y vboin Z,=-3x+4y o >gadz=7?
Options:

2, TE
1. = 3x"+3xr+2y 4

9 o 33w +2yt+c

_

3w X +Iy-2yT+e

1 % 3x" -3xy-2v " +c

Question Number : 145 Question 1d : 7164472395 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Solve u,—4u, =0 and u(0,v) =66

u,~4u, =0 Hodatn u(0.v)=6e"" 2 IBocsod.
Options:
1 > 62—3:41'—;.' |
2 u 6 g3l
3 " 563{ dx—y)
4 . 693{1*—4-:.1

Question Number : 146 Question Id : 7164472396 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



&z Az o
——2—— =27 +3xy I8
%

The complementary function of
i X oV

&z 5 :
52z =27 +30y ag) Jros FOTVe oubleT

&' axéy

Options:

1 = A0)-H0)+Aly+2x)
3 o Ky (v )+ £y + 2x)
q AW+ f2y+x)

4 s A+ L)+ fily+2x)

Question Number : 147 Question Id : 7164472397 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66
: , 2 .07 Bz . o
The particular integralof —-2—+—5=smx is Z,= ?
cx” CxXcy Cl'i."
0z 4 Pz e . . 5 "
T2tz Tsiny 03g) PBE DArEOD I, = 7
ex” cxcy oy
Options:
1. = COSX
7 —COSX
3 % sinx
—sInx
4 v

Question Number : 148 Question Id : 7164472398 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66



By putting X =¢€".¥v=e€" in the partial differential equation (D * 3 'ED_T: +xD, —yD, E=logx the transformed DE is:

x=€"'.y=€" 3 Fis ensod vdos0mo (*D — y'D,’ +xD, — D k=logx &° eocdineo, ©808¢ DE:

Options:

1. v [:D”: = D..:)-: =u
7 % [D": + Dx.z)-: =
3. % (2D,-D)z=u

A = (D,+2D,)z =u

Question Number : 149 Question 1d : 7164472399 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

. . dv dy d- dp dg
In Carpit’s equation —=—= o -=—= then k= ?
e ™. "+, —U+mf) &
dc _dy  d- dp dg

n T = = — = = @
S“ﬁ:jésmgbn}hjﬁtﬁt‘aﬂéﬁ F A e 2900, 9Ny k=

Options:

1. = {.ﬂ.-—}?f_.}
9« —\f,+nf)
3 o —f,+4)

4.« U+ar)

Question Number : 150 Question Id : 7164472400 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



If R is a ring with unity element 'l' and characteristic of R = n wheren > 0, then R contains a subring isomorphic to:
n>0 ecihyer R 3o o oo 17 & ErAH Hoco s0dain ergddto R =N esond, RBDNED D DO
£0AHdY R B3 mﬁﬁmﬁhé(@o@éd}mo) e9:)E806:

Options:
1. = Fa



